
(2) Side 
Post Left

(2)
Glass*

(8) Glass 
Clamp*

(16) 
M5X0.8 
Screw*

(48) 3/8"-16 
Tamper 
Resitant 
Screw

(4) Angled 
Alignment 

Mount

(4)
Cross Base 
Assembly

(2) Awning 
Assembly Side

(8)
Two Piece 

Cover

(4)
54'' Awning 

Arms

(56) 3/8" 
Split Lock 
Washer

(16)
Black Fender 

Washer

(16) 3/8"-16 
Socket Head 

Screw

(4)
54'' Awning 
Cover Plate

(40)
3/8 Washer

(134)
1/4"-20 Tamper 
Resistant Screw

(134)
1/4" Washer

(134)
1/4" Split Lock 

Washer

(2)
Slat Wall*

(16-48) 
1/4"- Jam 

Nut

(16-32) 
1/4"- 

Flange Nut

(1) 
Thread 
Locking 

Adhesive

(1) 
 Right Angle 
Screwdriver

(2) Side 
Post Right

(1)
Awning 

Assembly 
Overhead

(2)
72'' Awning 

Arms

(4)
72'' Awning 
Cover Plate

(1) 
Waterproof
Caulk

Step 1: Remove and unpack the Items and Hardware. 

Preserve Outdoor Collaboration / PSV3
Installation Instructions

Before assembling the Preserve Unit, follow the mounting hardware 
instructions provided with the unit. These instructions are specific to 
the install location. For any questions contact your Ghent 
Representative by calling (800)-543-0550 or by emailing 
orders@gmicompanies.com

www.ghent.com/install - Lebanon, Ohio 800-543-0550 IS-PSV 1/23

(4) 
Rubber
Glazing 
Block*

*Depending on Material Selection



Orient side plates vertically

Grade 8
Hex Bolt

3/8" Lock Washer

Black Fender
Washer

Side Plates

Ensure these holes 
are on the same side

Awning 
Mounting 

Holes

Step 2: Gently rest the Side Posts onto a clean, dry surface as shown below.

Preserve Outdoor Collaboration / PSV3
Installation Instructions

Step 3: Attach the Awning Arms onto the Side Posts as shown. Ensure that the Awning Mount holes 
and the Side Plates are oriented vertically.

www.ghent.com/install - Lebanon, Ohio 800-543-0550 IS-PSV 1/23



Step 5: Add the Crossbraces as shown below. Use the provided Tamper Resitant Hex bit and tool. 
After tightening, fully tighten 3/4" Nuts on Side Posts

Plates
face
inward

3/4" Jam Nut

3/4" Fledged Nut

NOTE: Follow mounting hardware instruction 
sheet for Threaded Rod/Anchor Installation

Loosely tighten, 
Allow for posts to be adjusted

Raise/lower Flange Nut to adjust 
the angle of the Side Posts

Align both 
edges before 
tightening

3/8" Tamper 
Resistant Hex

3/8" Lock Washer

3/8" Washer

Preserve Outdoor Collaboration / PSV3
Installation Instructions

Step 4: Loosely mount the Side Posts onto the Threaded Rod / Anchors. Ensure the Side Plates are 
facing inwards.

www.ghent.com/install - Lebanon, Ohio 800-543-0550 IS-PSV 1/23



Notches 
On Top

3/8" Tamper 
Resistant Screw

1/4" Tamper 
Resistant 

Screw

Rubber 
Glazing Block

DETAIL AA

SCALE 1 : 5

Install 
Lock Pin

Preserve Outdoor Collaboration / PSV3
Installation Instructions

Step 6A: Install Glass if applicable. Mount Glass Clamps as shown on inner Crossbrace holes. Then 
install rubber glazing blocks and mount the Glassboard. Finally add the lock pins.

Step 6B: Install Slat Wall if applicable. Note: Crossbrace Screws may need to be adjusted when 
installing Slat Wall. Fully tighten these bolts when finished.

www.ghent.com/install - Lebanon, Ohio 800-543-0550 IS-PSV 1/23



1/4" Tamper 
Resistant Screw

Angled 
Alignment Mount

1/4" Tamper 
Resitant Screw

Preserve Outdoor Collaboration / PSV3
Installation Instructions

Step 7: Install base enclosures as shown.

Step 7: Repeat steps 2 through 6 for second unit. Ensure mounting guide has been followed correctly 
to properly space units apart.

www.ghent.com/install - Lebanon, Ohio 800-543-0550 IS-PSV 1/23

Step 8: Install 72" Awning Arms. Ensure the 72" Awning Arms are above 54" Awning Arms. Use 
Angled Alignment Mounts. If Top Awning Arms do not align, adjust the Side Awning Arms where they 
meet the Side Posts until aligned. If this is not sufficent, refer to Step 4 and adjust the underneath 
Flange Nuts until the arms are aligned.



Begin From 
Lowest Edge

Angled 
Alignment Mount

1/4" Tamper 
Resitant Screw

1/4" Tamper 
Resistant Screw

Top Awning

 

Angled Alignment 
Mount

Side Awning

Preserve Outdoor Collaboration / PSV3
Installation Instructions

Step 9: Install Side Awnings then Top Awning. Begin from lowest edge of Awning Arms.

www.ghent.com/install - Lebanon, Ohio 800-543-0550 IS-PSV 1/23

Step 10: Install Top Awning Arms. Ensure Top Awning is above Side Awnings. Use Angled Alignment 
Mounts.

Step 10: Install base enclosures as shown.



1/4" Tamper 
Resitant Screw

Note: Apply waterproof 
caulk around edge before 
adding top Awning Plate

Preserve Outdoor Collaboration / PSV3
Installation Instructions

Step 11: Install Awning Plates.

IS-PSV 1/23www.ghent.com/install - Lebanon, Ohio 800-543-0550


	Sheet1
	Drawing View64
	Drawing View66
	Drawing View67
	Drawing View68
	Drawing View69
	Drawing View71
	Drawing View72
	Drawing View73
	Drawing View74
	Drawing View75
	Drawing View76
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82
	Drawing View83
	Drawing View84
	Drawing View85
	Drawing View99
	Drawing View132
	Drawing View133
	Drawing View134
	Drawing View135
	Drawing View136
	Drawing View138
	Drawing View147
	Drawing View148

	Sheet2
	Drawing View86
	Drawing View88
	Drawing View92
	Drawing View95
	Drawing View125
	Detail View Y (1 : 8)

	Sheet3
	Drawing View96
	Detail View  (2 : 25)
	Detail View N (1 : 10)
	Drawing View105
	Drawing View149
	Detail View Z (1 : 10)

	Sheet4
	Drawing View112
	Drawing View113
	Drawing View114
	Drawing View116
	Detail View V (1 : 5)
	Detail View X (1 : 6)
	Drawing View151
	Detail View T (1 : 4)
	Drawing View154
	Detail View AA (1 : 5)

	Sheet5
	Drawing View123
	Drawing View124
	Drawing View137
	Drawing View160
	Detail View AD (1 : 15)

	Sheet6
	Drawing View139
	Drawing View158
	Detail View AD (1 : 15)
	Drawing View162
	Drawing View164
	Drawing View165
	Drawing View166
	Drawing View167

	Sheet7
	Drawing View145
	Drawing View146


